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aolunau

(adj.) 92U

(adj.) aowe, Tuaule




naosu ANWAUEU, §oinap [n.]
clutter duausivinan
chaos, mess Indolnu disruption Tulhu

confusion, disorder nawlio

anarchy, upheaval 1iulu

turbulence TUIK2 turmoil @uindv

disarray Tiilnd jumble 1a:in:Hv

1. Subject-Verb Agreement

Rule Example

1.1 nq douvenanousd:

Tanya with her family always (eat / eats) dinner here.

- — The lady whom | work with (is / are) my secretary.

Students bitten by a dog (was / were) hospitalized.




Rule Example

1.2 ng WesiBud

100% = All of the students (is / are) gone.
80% = Lo

All of my hair (is / are) gone.
50% =
20% =
0% =

1.3 nn Tnd Verb

...OF ...
Either | or she (has / have) to pick up the phone.

Either ... or ...
(Is / Are) he or they going to cook our dinner?

Neither ... nor ...

Not only... but also...

2. Tense
Tense glueda
Rule Example
inainawseunuiolns When she was laughing with you,
ﬁudﬁeu’ﬁi othau I was crying.
Iﬁaagjllumﬁu: He was jogging down the path
funainsnini dovls when his aching legs gave out.
Inaneou To Aladdin had fled from the scene
ifanavdonls niueu before the guards came.




Rule Example

The beanstalk was being grown by Jack.
V. to be + V.3

4. Non-finite Verb

Type Structure

Gerund Gerund VS Noun

Gerund =

Noun =

1. | am not interested in website (development / developing).

2. | am not interested in (development / developing) websites.




Type Structure

Participle <V.ing> + N. The walking man is my brother.
N. + <V.ing> The tall man standing there is my father.
<V.3> + N. The tired boy is resting.
N. + <V.3> The man injured is taken to the hospital.
<V.ing>, +S +V Staying home alone, Sara is lonely.
<V.3>, +S +V Bitten by a snake, John is in pain.

Infinitive

Inf. with to: ask / allow / get someone to do something
Ex. She allowed me to go home.
Inf. without to: have / make / let + someone do something

Ex. Let me go home.




A flash flood (1) results from a number of (2) factors, but (3) are most often (4) due to

(5) extremely heavy rainfall from thunderstorms.

Cacti (1) have spines (2) instead of leaves which minimize (3) the surface area and (4) reducing

water loss (5) by transpiration.

Facebook (1) has acknowledged (2) to be the (3) world’s (4) number one social network

site, attracting users of all (5) ages.

People (1) with Alzheimer’s disease (2) may have trouble (3) remember things that have

happened recently (4) or names of people (5) they know.

(1) As soon as our boss (2) begins (3) talking about the project, the plan (4) will report

to him (5) immediately.

(1) Authorities had begun (2) evacuating residents and some farm animals from

(3) nearby villages before the volcano (4) had erupted, (5) sending lava streaming

in rivers towards houses.

Answer Key
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